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Aufgabe 10

ψ̂(ξ) =
∑
i

ϕi(ξ)âi, ψ̂†(ξ) =
∑
i

ϕ†i (ξ)â
†
i , N̂i = â†i âi

ψ̂†(ξ)ψ̂(ξ) =
∑
i

〈ϕi(ξ)|ϕi(ξ)〉â†i âi

=
∑
i

N̂i|ϕi(ξ)|2

|n0, n1, n2, . . .〉 ist Eigenfunktion zu N̂i mit Eigenwert ni, dabei ist zusätzlich |n0, n1, n2, . . .〉 normiert,

somit gelangt man zu:

〈n0, n1, n2, . . .
∣∣∣ψ̂†(ξ)ψ̂(ξ)∣∣∣n0, n1, n2, . . . 〉

〈n0, n1, n2, . . .

∣∣∣∣∣∑
i

N̂i|ϕi(ξ)|2
∣∣∣∣∣n0, n1, n2, . . . 〉

=
∑
i

ni|ϕi(ξ)|2

Aufgabe 11

Starte mit:

ĵ(~x) =
1

2

∑
i

[
~̂pi
m
δ(~x− ~̂xi) + δ(~x− ~̂xi)

~̂pi
m

]

Benutze ~̂p = −ı~~∇

= − ı~
2

∑
i

[
~∇i

m
δ(~x− ~̂xi) + δ(~x− ~̂xi)

~∇i

m

]

= − ı~
2

∫
dξψ̂†(ξ)

[
~∇i

m
δ(~x− ~̂xi) + δ(~x− ~̂xi)

~∇i

m

]
ψ̂(ξ)

= − ı~
2m

m=s∑
m=−s

[∫
d~x ψ̂†(~x)~∇iδ(~x− ~̂xi)ψ̂(~x) +

∫
d~x ψ̂†(~x)δ(~x− ~̂xi)~∇iψ̂(~x)

]

= − ı~
2m

m=s∑
m=−s

[ψ̂†(~x)~∇iδ(~x− ~̂xi)ψ̂(~x)
]∞
∞︸ ︷︷ ︸

=0

−
∫

d~x ~∇iψ̂
†(~x)δ(~x− ~̂xi)ψ̂(~x) +

∫
d~x ψ̂†(~x)δ(~x− ~̂xi)~∇iψ̂(~x)


= − ı~

2m

m=s∑
m=−s

[
ψ̂†(~x)~∇iψ̂(~x)− ~∇iψ̂

†(~x)ψ̂(~x)
]

= − ı~
2m

[
ψ̂†(ξ)~∇iψ̂(ξ)− ~∇iψ̂

†(ξ)ψ̂(ξ)
]
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